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The question paper comprises of two Sections, A and B. You are to attempt both the sections.

[t e Stfard €

All questions are compulsory.

MY WIT-3 3 WRT-a & 9t Tl & S e - 9o forem &)
All questions of Section-A and all questions of Section-B are to be attempted separately.

WTT-3T & U9 T 1 9 3 % YT Ueh-Ueh 3{eh & ¢ | 7 S Uoh-Teh IIeg 3791 Toh-Tah A A < |
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

HIT-31 % T¥ W& 4 | 7 F %7 &1 & el $ ¢ | T Iq AT 30-30 Vgl & T |
Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

WAT-37 F 0T & 8 W19 &% U9 - dt= 3feh! & & | 37 ST o197 50-50 I1&a) 4 < |

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

WRI-3 & T¥ €A 20 | 24 F T UG- WE 3T & ¥ 1 T I T 70-70 Y A T
Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

UI-§ F Y9 & 25 ¥ 42 F YT JATeHe v W ST sgfoshedt we §1 T Ue Th-Ua 3{dh
F 1 Ry ™ ur fawedi § & T Fadt TH Go8 I9FH fTwed I 8
Question numbers 25 to 42 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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HIT-A / SECTION-A

1 TF T€ & & Ydi W IIRE & 1@ Th g F Teafues frehe o art 872

Why are magnetic field lines more crowded towards the pole of a magnet.

2 39 YeY BREF 1 A1 fafe s fawm = v=a s g

Give an example of plant hormone that promotes growth.

3 AENTE FI= % SH 9 w1 W fafae el stieier @ arqaferfa § stfufmar St R

Name the part of a biogas plant where reactions take place in the absence of oxygen.
4 1 o1 TemafTe aie <9 ge fafae s g § o -

@@  ia = arg ¥ T R S R

(b) & 3T AR H U IR F RS B TH fohar 9 8

Giving chemical equation answer the following :
(a) What happens when copper is heated in air ?

(b) What happens when the product obtained in above reaction is heated in hydrogen ?

5 pH I § U YoIeT 3751 1 Teh Jolel &R 1 pH /M 1 99 a2 11 fafau |

Give the pH range and colour for a strong acid and a strong base in the pH chart.

6 2m T U1 1.55 X 10~ 6m2 STIEIFR F HF%a el TH 41 F IR F Fioly J@ wifae ) afg ug
& FfalEhdT 2.8 X 1078Qm B |

Calculate the resistance of a metal wire of length 2m and area of cross section 1.55 X 1076m?, if
the resistivity of the metal be 2.8 X1078Qm ?

7 T foRqa otaa e 9A o yanfed St § 39 e uftay & =remn s § et 9o o 5A
¥ e oftwe & s g & el @i ?

An electric oven which draws 9A is operated in a domestic electric circuit that has a current
carrying rating of 5A. what will happen to the electric circuit and why.

8 el o | 37 Afienl = veefe S e ereeen A faega T e F%d € —
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MgCly, KCl, CHCL;, CS;, CaCl,, BaCl,

50 ATl | H-A1 SE T R 2

Identify the compounds which can conduct electricity in molten state from the following;:
MgCl,, KCl, CHCl;, CS;, CaCl,, BaClz

Predict the type of bonding in those compounds.

9 g TUERA Y Ui <ifSe | TerEafTE SEteRr R g I Serew it e Aifie 4 el 3
7ot fafy gr guew foran s €1

Define the term electrolytic decomposition. Give two examples along with chemical equations
where elements are separated from their components by this method.

10 i & et srfafsRanetl o wgfea Temfte e fafe 3
(@) & HR &9y F WA R S
(b) <= gfafram =t arg # W e e )
© = Ygfafrm sivure difeaw segiamss & stfufwan &t 2

Write balanced chemical equation for the following reactions:
(a) When copper is heated in air.

(b) When Aluminium is heated in air.

(©) Aluminium oxide reacts with sodium hydroxide.

1 Ao W G 3TTY TS Hosil AU Thg HHS T BAF T 1 T A 39 A § e qEgq 3
Y TR W ITHT el T HE1 A N7 HHS B YL A A 5 U GG H BN 2

While eating food, you happen to spill some curry on your white shirt. You immediately
scrub it with soap. What happens to its yellow colour on scrubbing with soap? Why? What
happens to this stain when the shirt is washed with plenty of water ?

12 T Toea 9Ie9 1 ST 60W, 240Ve | ST TR JIA SIS | 3T $Heht dleedl 192V e i 3
IR ¥, @ Suged g q9n ood gRI ot T fagd ar wRefaa s (A e fe sem
iRy 7E agan)

An electric bulb is rated at 60W, 240V. Calculate its resistance. If the voltagedrops to 192V,
calculate the power consumed and the current drawn by thebulb. (Assume that the
resistance of the bulb remain unchanged)
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13 9 fed T gl % ferg fom s ik ge wiiy I wifeg 3
@ 2 ufRyR 20 3R3 QH Aoft ww H 2 vV IA F e T R
(b) 2 wfeERl 2 0 3R 3 O FH TR FA H 2V F T | i1 @ el

Draw circuit diagrams and find the effective resistance of the given combinations :
(a) Two resistors of 2 () and 3 () joined in series to a 2 V cell.
(b) Two resistors of 2 {) and 3 ) joined in parallel to a2 V cell.

14 1200 W X 1 faega €rex 2 =2 | wfafs =eman smar €1 39 30 &9 6, Rs 5.00 9l e R wq 3
TGH HLA T Fell 1 Jod URRford Sifsd |
An electric heater rated 1200 W operates 2 hour/day. Find the cost of the energy required to
operate it for 30 days at Rs 5.00 per unit.

15 wfsha ‘A’ g0 S aen famfaa @i TR & e Wi R Srawita o faw 9 € oiR Haee Saw 3
‘B’ H WaW i &1 ufeRan ‘¢’ i qen faataa @S @ Sae B @ IR Te | W it § iR
ey i ufkEl a% ugan €1 ufaat H e T 9iEar D’ @ SFar €1 98 WS S0 B % g IRy
& fafe=r wril § o= foren wman €)1 wiew & fafi=r awll F ufvel F fffa oiom B emeifed w0 @@t
wfshal  ‘F weadl B

(a) HaiESH % B ARE F IW fafaw
(b) SR A, C, D iR E 1 W fafaw |

Water and dissolved minerals are absorbed into the root hair of the plant by a process called
‘A’ and enter the conducting tissue ‘B’. The process ‘C’ helps the water and dissolved
minerals to move up through the tissue B in roots and stem and reach the leaves of a plant. In
the leaves food is made by a process ‘D’. This food is then transported to all the parts of a
plant through tissue ‘E’. The process of distributing food made in the leaves to all the parts of
the plant is called ‘F’ .

(@) Name the conducting tissues B, E

(b) Name the Process A, C, Dand F

16 HFe qfedsh 1 o3 99T 3R Amifera wifeg 3
yafeTsh, sTafash, Agan adl AUHIKh |

Draw a diagram of human brain and label cerebrum, cerebellum, medulla and forebrain on it.
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17 (a) OFARE % @ H HH G TIEH 99 H 990 H T6@ ol o 2 3
(b) ST GIfad B el ufe FAR IR H Fel stafeed ot R
€ 9% g R a< 2§ R0 yr it S sifaent fawdt €2
(@)  Which enzyme in pancreatic juice digest fats ?
(b)  Where are the glands secreting intestinal juice located in our body ?

() What type of cells play role in opening and closing of stomata ?

18 IR & < Y FaEdl & AW fafey | sEie 37 9R fafredesi @ gt s e w3
T ST e T S ¥

State two major constituents of biogas. List any four characteristics of biogas onaccount of
which it is considered an ideal fuel.

19 & oo # el Jenell’ fow W we Ul g steifed il Seei | 39 fow W e- 3
3191 fo=ar fo@ & 37 o1 Fel 1| W T O 39 fasd W 9 ot 61 forg )
() ‘Tl TEER’ W wE < guE Sy

(b) T YHR I YRR S ek faemerd a=3 | = | e gafed FHTT I ¥
? fafaq)

There was a poster making competition in a school on a topic ‘SAVE ENERGY’. The students
were also asked to give write ups on this topic.

A student of the school is unable to make the write up on ‘SAVE ENERGY".
(a) Suggest him two steps to ‘SAVE ENERGY ?

(b) Mention the value which the school is trying to give its students by holding
such a competition.

20 fre oo 1 97 TTER® 3T & 1Y ITER HH W A JEgRe & 91 Th UEH 9 9wl 5
Freeret & S <@ & O Y g A ¥

g foFE YR 1 378%h § ? ST afvid s & eIl & fau s fow fafy a1 =39 =0,
31 M foge 9ol wifse)
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An ore on treatment with dilute sulphuric acid gives out brisk effervescene of a colourless gas,
which turns lime water milky.

Which type of ore it is ? Name and describe the method you will prefer to oxidise the above
described ore.

21 (@) = T T T G S AEE S
caso,.2H,0 —% , cas0,. S H,0+ 2 H,0
2 2
Ffverrier e Seure 1 T fAfae 9u1 STE % Th ST 1 e St |
(b) = fEw e il w5 Fmi fret s it foRe) e | sfufFa g gen |
G — Ofesm RS
(i)  STIfTEE AR Q
T STl TS & hl TSI e ST ST 1 A e ek & Wi : \
A
. “quT A | A 'Ean
1) Hifeaq wiNES
@) srfEm Agge
(@)  Study the following chemical equation : -
caso,2H,0 —27% , Cas0,. ~H,0* = H,0
2 2
Name the reactant and the product and mention one use of the ~ product.
(b) The following salts are formed by the reaction of an acid with a base:
(i) Sodium chloride
(ii) Ammonium nitrate
Identify the acid and the base and tabulate your answer in the format given below.
S.No. |SALT ACID |BASE | NATURE
€9) Sodium chloride <\
(2) Ammonium nitrate A
2 (a) U fagawReawne?
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(©  m % fram ®1 sere w0 % fae ww faga oftey saw) aftee J faga um qen faveiw
% HIYA T 3799 IR i

(a) What is an electric circuit ?
(b) Calculate the number of electrons that flow per second to constitute a current  of
one ampere. Charge on an electron. is 1.6 X 10719C




(©) Draw an electric circuit for studying Ohm’s law. Label the circuit component used to
measure electric current and potential difference.

23 (a) ¥% fe@m & fou fo= wfeq w frammam &1 avi Fifve fe & yrER! 5 geaaa a9 5 5
@ T R ST T o AT S 1 SIS FET §
(b) SR Trawa™ ¥ 55 #1 fawum e yer aiafda &m afg
()  fie afReme e gree FE H o S |
(i) B FH TEE 5@ S A
39 X T HROT ST |

(a) Describe an activity with diagram to show that a current carrying rod experiences a
force perpendicular to its length and magnetic field .
(b) How will the displacement of rod be affected in above activity if-

(i) stronger horse - shoe magnetis used.
(ii) length of rod is increased. Give reason for your answer
24 (@) T IS 4 T ARG Giga frefafaa s amisa Hifag 5
@) ST
@) = AE
(i) TNE
(iv) IR

(b) T T % SEH H ST HC |
() & & 2 vl o T fofae e saf rasioo gem] & Ffaserr 9 8 & )

(a) Draw human excretory system and label the following parts: -
)] left kidney
(ii) Urethra
(iii)  Urinary Bladder
(iv)  Venacava
(b)  State the purpose of making urine.
() Name any two substances which are selectively reabsorbed from the tubules of a
nephron.

HTT-&/ SECTION - B

25 pHTR F A SRI R Ao s €3 § - 1
(a) < 3 Hren b) R
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(© s (d TR SRE
The two colours seen at the extreme ends of the pH chart are : ]
(a) Red and blue (b) Red and green .
()  Green and blue (d)  Orange and green ;
26 ﬁmﬁﬁﬁﬂﬁeﬁﬁwwmmaﬁmﬁﬁH@ﬁfaaﬁm%?— 1
= pH &w{ TR 3
fwﬂ %im :
'E‘E' ' ) :::lpmm
)
@ IV I © 1 @d I

Which one of the followmg shows the correct method to find the pH of solution ?

———=—pH paper dropper \\Q
pH paper
solution
solutxon
b

solution solution
0 wrner (1) pH paper
(II

(@) € I (d I

27 IR YA d2-379 9 e € 1

31g ¥ e QA TS i et g ® \
(a) I (b) II (©) I d v
Four experimental set - ups are shown below :

i )
L) | P
Dilute NaOH Diuvte HCI ] Dilute NaOH

Zinc Na,COs(s) | Na;COys)

AR ! "o v .- The set

-ups that would result in rapld evolution of hydrogen gas would be : |
(@ I by I (c) 11 (d IV i
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T B T Y& Fa9T et § Wl qothe & o Tohted T #Td §T J&101 T - 1
(@) T Tolt & q@ & e oA A I

(b) Tore #  9iEda

() I TeRL &l Ty

(d) Swl A

A student while heating some ferrous sulphate crystals in a dry boiling tube will observe :

(@) water droplets near the mouth of boiling tube

(b) colour change of the crystals

(9] smell of burning sulphur
(d) all of the above

IR BEI A FIR Tohe F facram 3R e #1 Fial 9 yfafsman i o1 7w fean SR eTq-o73 Jam
a1 frsed smen: = yaR 9 ford

Jeyur fremd

A | fawm #1 fen 1 uRafia Qo TR @ | 98 Sae SAfufmar 2
77 3R Fel W e 1 1 o9q @i 2
g1

B | faeas & e T dRafaa giet gosh! 7§ | g% fawemaq sifufsan g
T HiA W A U e fea e
C | faeram 1 gosht &0 {7 ufiafda eie ren @t | ae fawemy sifafsran 21
T 3R #iel W S T FH A @i
feam

D | facram =1 =ften T1 afafda Bt oo 20 @ | a8 TaeH SIaiRan 7
T SR i R AR 1w A Kas

e
5 o A Yeyor o frerd TR e ow 2
@ A () B @ C d D

Four students performed experiment to show reaction between copper sulphate and iron nails. They
recorded their observation and conclusion respectively as :

OBSERVATION INFERENCE
A | Blue colour of solution turns colourless. | It is combination
Grey deposits are seen on nail reaction

B | Blue colour of solution turns pale green. | It is displacement
Reddish brown deposits are seen on | reaction

nails
C | Pale green colour of solution turns blue. | It is displacement
Silver grey deposits are seen on nails reaction

D | Blue colour of solution turns pale green. { It is combination
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Reddish brown deposits are seen on | reaction
nails

The students who has correctly recorded observation and conclusion is :
@ A (b) B @ ¢ (d_ D

30 9 fe@ o foll ® @ 37 waafeal 3t vgaife e g sifufsran 78 & 1

)
31 QY iHA A 91 B H Few Tethe & e faeen W T B o o A § B R TS am e B 1
¥ f5fr ) U2 g1 €| IS GHY IvEE 98 fE A 98 W e R0 7 Y07 B § S B B
T W TS U S 39 Yel & YR W g Frafafaa fred e g R N

@@  Zn TSR afusafra o1g § oK T9F 9% Fe d Cu F1 F4 B
(b)  Zn TR Ay THFET o1y T 3R T9% 916 Cu o Fe & A T
(c)  Fe Usd 31fus WiHa 91g § 31 39& 91K Zn 9 Cu &1 ¥ B |
(d)  Feud aiftrsh G wig } oI 39% 1 Cu @ Zn &1 4 81

Two beakers A and B contain aqueous solutions of iron sulphate. A student places a copper
plate in beaker A and a zinc plate in beaker B. After sometimes he observes a grey deposit on
zine plate and not on the copper plate. From these observations he may draw the following

conclusion :

(a) Zn is most reactive metal followed by Fe and Cu
(b)  Znis most reactive metal followed by Cu and Fe
(c) Fe is most reactive metal followed by Zn and Cu

(d)  Fe is most reactive metal followed by Cu and Zn
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32

33

34

f&g, ur uftafda we & fag Wi fmd s amen wfafd afwus § —

@) W (b) femwz

(¢ Rz (d)  defErs
The variable resistor used to vary current in a D.C.
(a) Transfrmer (b) Dimmerstat
() Rheostat (d)  Potentiometer

3iW & & yar H WERI &t gY, T o A e T Wi 9w & wiely 2

% 4
1(mA) ¢ 1
301
0.33 0.:6 0?9 >
V (volt) —>
@ 10000 (b) 109 © 1000

While performing the experiment of Ohm’s law, a student has plotted the following graph.

The resistance of the conductor would be:

h
90 +
1(mA) g
w -
0 05 05
V (volt) —>
(@ 1000 Q ®) 100 © 1000
= fgd T ufmy § wfedy =1 wH fora & 2
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[13 mA]

- + o+ -
@ wd
@ 2000 ®) 1k0Q
© 2kQ d) 4kQ

What is the resistor value in the given circuit ?

25 v] ErN

- + + -

¢ 6
.

= Sk
—

(a 200Q (b) 1kQ

© 2kQ d) 4kQ

35 Fofisrn & HaifSa < Wiieshl R qT R, 1 Jed Wade I 63 & Far #, T o A fr afieg 1
ERIEI
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+ N\
4)
R,
R,
+| = PR
I | N/
6V

(a)  dSicEdl V &I IS Ui Al ORI 1 &1 3G 8T |

(b) 9N 1 GG TEFT a9l dieedl V H IS T |
® (c)  HRIIdu dieedl V IFi @ J& Igdish

(d) 17 Sieedr V IFI H AYS TedR

In an experiment, to find the equivalent resistance of a series combination of two resistors R1
and Ry, a student uses the circuit shown here.

+ —
@
Rl
R,
ud [ Tl
11 &
6V
The circuit will give :
(a) correct reading for voltage V, but incorrect reading for current I
(b) correct reading for current I, but incorrect reading for voltage V
» () correct reading for both current I and voltage V

(d)  in correct reading for both current I and voltage V

36 20, 30, 5Q % A7 Ffae F 10v FH AT AR FRRAY H Sl § TR FH A S g 11

A whadedl & faldi W fasara e
(@ 2v

(b) 3v

() 5v

(d) 1ov

Three resistances of 20,3Q nad 5Q are connected in parallel to a 10v battery of negligible
internal resistance. The potential difference across the 3 resistances will be.
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37

38

(@ 2v
(b) 3v
() 5v
(d 10v

fore fomt & X g0 g T weE © —

(@ WadEs (b)) FEh ) HfRmEgm (d) W

Which structure is represented by ‘X’ in the following diagram:

(a) Chloroplast  (b) Nucleus () Cytoplasm  (d) Stomata

fafer & 9 =t fareett =1 W9 w0 & T w3nT fora 9 9en s & —
(a)  Humea = () TEFAEFE () TEEEET d) o=

The stain used for staining lily leaf peel is:

(a) Methylene blue (b) Safranin stain (c) Acetocarmine (d) Glycerine
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39 et B g TR W A U W™ Ued den o T S 39 9N 6 U T R A A @ 1
URETH TEl | qAT AT B I HA HFIS Hi U5 | T AN SHF IO IHA 39 W I AT 4
T e 49 H @l

T8 W Oeil IR T wler i A 3 BT 1 98 Yarl iR e

(@) W MAIBIA ARA-FR A M

(b) T A e e 81 T a9 B 1 1 ufafda w6 ge )

(c) T B < RIel B AT ALl W A w1 1 ufafda e geri

(d) 2 sl % &1 H oftad =& e

A destarched potted plant was taken by a student. He covered portion ‘A’ of the leaf with a

transparent sheet and portion ‘B’ with a black paper. After this he kept the potted plant in
sun for about 4 hours.

While performing the starch test on the experimental leaf he observed that:
(@) Both portions ‘A’ and ‘B’ turned blue black

(b) Portion ‘A’ turned blue black and portion B did not change colour
(0 Portion ‘B’ tuned blue - black and portion ‘A’ did not change colour
(d)  Both portions did not change their colour

40 T IRY A 7% qradl are-d A € | 98 e SR e ® — 1
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(a) FARMEA () ol diam (FAE)

(c) o (SFrehfieen) @ @ )R
The colour of young leaves in some plants is reddish because of :
(@) Chlorophyll (by  Carotene
(¢) Xanthophylis (d) (a),(b)and (c)
41 YIHT & IRA CO, SN Ereft § U &% FarT § v Fpr iedt |t =nfe fomss — 1
.
e o N
() 2 far g e
(b) T Fau gen 9 v faw s )
(© T Tou vig v | 8 a1 guy fau ster § 99 &« 8 Sw A
(d) TF gen fau vig vomen | 9o g0 gar fa e & 5@ A quiaw gan |
The delivery tube used in the experiment to show that CO; is given out during respiration
should have:
(@) Both ends closed
(b)  One end open and one end closed
() One end in the conical flask and the other end in the beaker above the water level
&

(d) One open end in the conical flask and the other open end completely immersed in
water of the beaker

42 YIET % IRA CO, Seafsia Bt 8, 70 % WA §, ¥qaa KOH faemam & =ifed — 1
(a) 0 ffta
(b) &MY R A Ffif
€ A3 v 7 faffa
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J (d) TR | Feaa & foa ¢ ffifa

The KOH solution used in the experiment to show that CO; is given out during respiration
should be prepared:

(a) Fresh
(b) Two days before the experiment
()  Five days before the experiment

(d)  Just one day before the experiment

ok ok ok k%
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